Entries / 10 GeV

Data/MC

Entries / 10 GeV

Data/MC

Entries / 10 GeV

Data/MC

35.9 fb (13 TeV)

800
700
600
500
400
300
200

100

CMS o Data Cz+b
imi I ZH [_]2+bb
Preliminary — B W+udscg
O-lepton [ ggzH Em W+b_
Z+bb Enriched [ QCD [ W+bb
I VVLF .t
[ VVHF [ Single Top

[ Z+udscg  EZ MC Unc. (Stat.)

x’ld(‘)f = 0.653 MC Un‘c (Slal.)‘
. LXFIFY LIL( ]
v e
50 100 150 200 250 300 350 400 450 500

p,(V) [GeV]
x10° 35.9 fb (13 TeV)
o T T T e e e
r CMS ¢ Data I W+bb 7
[ Preliminary —— WH125x100 [0 W+b 7
[ QCD I W+udcsg B
50| L-lepton () B VZ(bb) T 1z+bb —
tt Enriched B VVLF mz+h R
40 B tt POWHEG [ Z+udcsg -

30

20

10

MC Unc. (Stat.) ]

O Top

led(‘)f = o.eé MC Un‘c (Slal.)‘
P} antd =
. - ¥ F
0050100 150 200 250 300 350 400 450 500
p,(V) [GeV]
35.9 fb! (13 TeV]
3507””_‘”HHHH_m_m_m(_mf
r CMS e Data_ . !
ZH(bb) 125 VVHF ]
300 [ Preliminary 2 Wi —
 2-lepton (p), High P, V) [z+b [ Single top —
E  z+bb Enriched [ Z+udscg MC Unc. (Stat.) ]
250 -
200 —
150 —
100 —
50— —
O:HH\HH\HH J
i 5§ ledof‘:0.85 MC Unc. (stat. )‘
E s
1 1'1'6
05
0p~"80 100 150 200 250 300 350 400

p, (V) [GeV]

Entries /0.2

Data/MC

Entries / 10 GeV

Data/ MC

Entries / 0.13

Data / MC

35.9 fb! (13 TeV)

600

T T T
400 CMS e Data [ z+b_ i
= ZH Z+bb 3
F Preliminary = WH E W+udscg I
350 — 0-lepton [ ggzH I W+b_ —
£ Z+bb Enriched [ QCD [ W+bb B
3001 [ WLF 13 .
E [ VVHF [ Single Top =
= [ Z+udscg  [EE83 MC Unc. (Stat.)
250 =
200 =
150 =
100 =
50— —
0 - T T =
E ledof =278 - MC Unc. (Stat. )
15E
E LY ¢ P ) Y
1% + g
0.5F
™% 05 1 15 2 25 3
|26, 1)|
x10° 35.9 bl (13 TeV)
45 L R L B L L L B R R |
F CMS ¢ Data [ W+bb B
40 preliminary —— WH125x100 |:| W-+b =
£ [ QCD =
C 1-lepton (e) IV Z(bb) [l W+udcsg B
35t Enriched . VViLE [ z+bb =
30E mm tf POWHEG [ Z+b =
C [ Top [] Z+udcsg |
251 —
20— —
15 —
10 —
5F —
0 - T T T T T =
E X¥dofy=3.62 R MC Unc. (Stat.) 3
15F =
1 . - e
0.5F E
% 100 200 300 400 500
mlop [Ge\/]
35.9 fb! (13 TeV)
A A e e B A B am e
450~ CMS e Data_ [ -
e ZH(bb) 125 VVHF 3
Preliminary 5 z +(b5) E WLE ;
2-lepton (p), High P, V) [C1z+b [ Single top
350 z+bb Enriched [ Z+udscg MC Unc. (Stat.) T
300/ =
250F- St =
200 =
150} =
1000 e =

2
P () 7 p_ (i)



